
Letter Quantity Description
A 12 1/2" zinc plated nuts
B 14 1/2" lock washers
C 18 1/2" flat washers
D 6 1/2"-13 x 2.5" zinc plated hex head bolt
E 4 1/2" -13x3.5" x 3.25" U bolt
F 2 Clevis Key
G 2 Clevis Pin
H 7 3/8" zinc plated nuts
I 6 3/8" flat washers
J 6 3/8" lock washers
K 6 SS bonded seal washers
L 6 3/8"-16 x 2.5" zinc plated hex head bolt
M 1 3/8"-13 hex head bolt
N 4 Plastic End Caps

1.)  For tractor top installation, TRACTOR SHOULD BE ON A LEVEL SURFACE. Standing on the operators platform of
the tractor facing the rear of the tractor is recommended.

2.) To install the left side roll bar mounting bracket, locate(2) 1/2" - 13 U-bolts, (4) 1/2" flat washers (4) 1/2"lock washers,
and (4) 1/2" nuts.

3.) Hold one of the roll bar mounting brackets against the outside of the left side vertical upright of the roll bar, with the top
edge of the roll bar mounting bracket 1 1/4" to 1 1/2" above the top horizontal roll bar piece

lock washers, and nuts onto both ends of the upper U-bolt.

5.) Repeat Steps 3 and 4 for the lower U-bolt installation on the left hand roll bar mounting bracket and the complete right side

All (8) bolts should be tight enough to prevent the roll bar mounting bracket from freely  sliding up and down the vertical
upright.

6.) Install side tubes to brackets using the (4) 1/2"-13x2.5 bolts by first sliding a 1/2" flat washer then slide the bolt through the
mounting bracket followed by another 1/2" flat washer, 1/2" lock washer and 1/2" nut.

7.) Install the front cross brace tube assembly using (2) 1/2" - 13 bolts, (2)1/2" lock washers and (2) 1/2" flat washers. Front
cross brace may be adjusted wider and narrower and then locked into place with the 3/8" bolt and 3/8" jam nut.

8.) Position Plastic top onto frame assembly center and square

9. Drill (6) 3/8" holes from underside of top tubes through top. Install bolt from the top of tractor top by sliding the
seal washer on the bolt then down through the topper and mounting bracket followed by a 3/8" flat washer, 3/8"
lock washer and 3/8" nut.

10. Insert clevis pin into 1/4" hole located on the mounting brackets, going completely through the 1 1/2" top side tubes.

11.) Insert key through hole in clevis pin to retain the pin. This procedure is for safety to insure the top does not come off
while being transported.

4.) While placing a 1/2" U-bolt around the veritical upright of the roll bar (NOTE: U-bolts may be tight and require tapping 
with a mallet or hammer) and through the top mounting holes of the roll bar mounting bracket, loosely install flat washers,

NOTE: Only tigten all 8 U-bolts once both sides are leveled across the top of the brackets and top of the roll bar.

Bag Contents
(Hardware)

A B C D

E

F

H

G

I J K
L

M

N


	Sheet1

